ER2 4 EERABNIAMIR—Y ABHARE—R

CITT )
=] +-B-%A EETIISES
HmEME (10 0%RERE)
CHRARBREY v h— (—f - A—IL FOHE) TH 13T
45 o# st | HESBEMEE (50%HE)
CRIEERER (56— 1 139
— 85I 0 0%
HmEME (10 0%RERE)
CHRARBREY v h— (—f - A—IL FOE) 6 9 3%
o RHERE 14 139
SEEFE (10 0%HE)
5A ot ot A I e e 14 23
et AERBE (50%H%E)
CHRIEERER (56— 1 139
— 85I 0 0%
FEE (70 0%HE) 0 0
BRERGE (100%ED)
cHAYYh—)—SEEUEE 54 8 1%
67 ot | pesBERER (50%HS)
CHIEEREE (56— 24 23
— 85I 0 0%
FEE (70 0%HE) 0 0
HREEAE (10 0%HE)
SRR v A— ) — TR URER L RIE:
- o# ot 55 IR AL 14 27
HaRtABRBEE (50%HE)
CRIEERER (56— 14 139
— 85I 0 0%
P (Too%HE 0 0
SEEFE (10 0%HRE)
8 A ot 6 SRR v A— ) — TR GRER 6 121
) 0 0%
FEE (70 0%HE) 0 0
BRERGE (100%ED)
cHAYYh—)—SEEUEE 14 13 17
oA ot 8t | pesBEMER (50%HS)
CHRIEEREE (56— 14 139
— 85I 0 0%
mEME (10 0%RERE)
A RS KR LB 14 23
HREEAE (10 0%HE)
108 14 78 SRRy A— ) — TR GRER s 73
BaRAEREE (50%HE)
CHIEEREE (56— 24 23
— 85I 14 23
FEE (70 0%HE) 0 0
BRERGE (100%EL)
cHAYYh—)—SEEUEE 54 9 1%
11A Ot H | pesBEREE (50%HS)
CRIEERER (56— 24 23
— 85I 0 0%
HE#E (100 %EE) 0% 01v
m%ﬁ%ﬁ$(1oo%%ﬁ>A -
. Hyh—)—JERUESE 4 % 6 3%
12A ot 6 | pesBEMER (50%HS)
CRIEERER (55E—) 24 23
— 85I 0 0%
HE#E (100 %EE) 0% 01v
m%ﬁ%ﬁ$(1oo%%ﬁ>A -
. Hyh—)—JERUSE 2 4 413
1A ot 3t | pesBEMER (50%HS)
CRIEERER (56— 14 139
— 85I 0 0%
FEE (70 0%HE) 0 0
HEEEAE (10 0%HeE)
SRR v h— ) — TR GRER 3 5 3%
2 A o# 6t 2K DERREAS 14 27
BaRBEREE (50 %RME)
CHRIEERER (56— 24 23
— 85I 0 0%
FEE (70 0%HE) 0 0
m%ﬁ%ﬁ$(1oo%%ﬁ>A -
. Huh—)—JERUESE 14 13 1%
s A Off 8t | pmasBEMEE (50%HE)
CRIEEREE (56— 14 139
— 1% 0 03
FRER  o<B |
mEM (10 0%ER)
CHRAHBEREY Y h— (—fE - A—L EOW) 134 23
A B KAl LB 14 27
- — R AR 14 13
HEEEAE (10 0%HE)
SRR v A— ) — TR URER 50 ¢ 89
" . 6 at - Fy BBRGRER ERRRT 14 27
: 55 IR LB AR 1 # 27
R D AR AR 1 # 27
HaRAERBEE (50 %RME)
CHIEEREE (56— 6# 161
— 87 14 27
@t 85 # 138 19




[F=Zxa—F]
:‘Z

B +-8-%A8 FHREE
N eaRAAe . 08
- A SEYIT M T RBZEDE 14 16 1v
HERKEEREE (5 0%ER)
48 1294 1134 -%m§m$¥(%:x> 8 817
Z DT
FToRAERE (REEMEBRAR—YY 5 TEIHE) 9 ¥ 9 1%
— R R A 224 ¢ 224 1%
THEE (100%RE) 0# 0 1v
BRRAFAEE (50%HR)
58 1638 1328 %o)?iggﬁi$¥ (F=R) 12 4 12 1%
T oARE (RERMERKR—VY S TEEE) 9 ¥ 9 1%
— R R A 274 & 274 1%
TEE (100%REE) 0# 0 v
HaIREITE (10 0%ER)
" . %&ﬁgg;%&%ﬁﬁﬁik% 14 20 3%
HELEERK 5 0 %E %)
67 17 77 CRLARER (7=2) 8 8 ¥
Z DT
CTIRARE (RERMERKR—VY S TEEE) 9 ¥ 9 1%
— R R A 230 ¥ 230 v
TEE (100%RE) 0# 0 v
HeIREITE (10 0%ER)
" . %&ﬁgg;%&%ﬁﬁﬁik% 2 ¥ 40 1%
HELEERK 5 0 %F %)
7R 2234 1274 RLARER (7=2) 8 8 ¥
Z DT
T oARE (RERMERKR—VY S TEEE) 1 % 111w
— R R A 329 # 329 1v
TEE (100%RE) 0# 0 1v
HERATE (1 0 0%HER)
Tﬂ-m&*ﬁ;;;vv;:gg% 14 16 1v
HERET K (5 0%RE%)
8A 2124 1374 RLARER (7=2) 04 10w
Z DT
T IARE (RAERMERKR—VY S TEEE) 5 4% 5%
— R R A 333 # 333 av
TEE (100%RE) 0# 0 v
m§§§§&$$(§9%Mﬁ>
98 180k 78 %o)?iggﬁi$¥ (F=R) 12 4 12 1%
CTIAERE (RAERMERKR—VY S TEEE) 8 % 8 1%
— R R A 247 & 247 1%
TEE (100%RE) 0# 0 17
m§§§§&$$(§9%Mﬁ>
108 2178 1108 %o)?iggﬁi$¥ (F=R) 16 ¥4 16 17
CTIARE (RERMERKR—VY S TEEE) 12 % 12 1%
— R R A 299 # 299 1v
TEE (100%RE) 0# 0 v
m§§§§&$$(§9%Mﬁ>
118 2374 07 %o)?éggﬁi$$ (F=R) 12 4 12 19
CTIARE (RERMERKR—VY S TEEE) 2 ¥ 2%
— R R A 320 ¥ 320 v
TERE (10 0%R%) 0 14 0 17
m§§§§&$$(§9%Mﬁ>
128 1754 1074 %o)?éggﬁi$$ (F=R) 6 ¥4 6 37
FToAEE (REEMBRKR—YI S TEEHE) 4 44 413
— R R A 272 % 272 1%
TERE (10 0%RR) 0 & [EK]
m§§§§&$$(§9%Mﬁ>
18 1804 1024 %o)?éggﬁi$$ (F=R) 12 4 12 1%
T oARE (REEMBRKR—V Y S TEEH) 6 % 6 1%
— R FI A 264 ¥4 264 1%
TERE (10 0%RR) 0 1 0 17
%%%E§&$$(§Q%Mﬁ>
2 A 1764 1268 %w?ﬁ;—%;ﬁk$$ (F=R) 12 4 12 1%
T oARE (REEMBRR—Y Y S TEEH) 4 44 413
— R R A 286 ¥ 286 IV
TERE (10 0%RR) 0 & 0 v
%§§§§&$$(§9%Mﬁ>
38 2384 1508 %o)?éggﬁi$$ (F=R) 20 # 20 17
T DAEE (REEMBRKR—YY S TEEHE) 4 413
— & FIFR 373 msg_
FIFHEE av
TmEE (10 0%HRER)
- HRERBEARARY I F T RAPREDE 14 16 17
HeIREITE (10 0%ER)
- FrBthRPERRERETRR 3 60 17
”-Ei?;lz(‘zv’)E;Tk% 14 16 17
i HEERTE (5 0%HK)
o 2sToM 1965k CBEBRBR (72 19 #1363
ZDhiTE
FTDARE (REEMBRKR—Y S TEER) 83 4 83 1%
—heF A 3451 4 3451 1v
Wit 3675 # 3762 1¥




